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Questions

Dividend or commission received
fSfass o1 wimm U

(A) Real Account
Rad sreprde

(B) Personal account
c .
U SHDT3C

(C) Nominal account
A 3fhTdT

(D) Bank account
CERECART

Answer Key:(C)

The purpose of financial accounting is to provide information for----------- .

faita TrRaieh o1 Jao ... & foTE Yo Ue™ &1 §

(A) fixing prices

T A3 oA o forw

(B) controlling cost.
NIUGARREL

(C) locating factory leading to wastages and losses

S 3R g1 g™ arelt Hhaes! &1 uga &

(D) assessing the profitability and financial position of the firm

TRIT P AU 3R faia fufa &1 RufRor s

Answer Key:(D)

If the Going Concern concept is no longer valid, which of the following is true?

e I aTel) U1 Bt YheuT 3¢ 2l 7, g & A b1 a1 9et 22
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(A) All prepaid assets would be completely written-off immediately

Tt s ufkufidl ! dabTd g1 9 Wrd H STaT SIe |

(B) Total contributed Capital and Retained Earnings would remain unchanged

S 3G B 115 Yot 3R WAL sieH # 18 uRad 181 g

(C) Intangible Assets would continue to be carried at net Amortized historical cost

3 ufgufl & Yg uRend TfagTRics anTd UR S1eiHTd &A1 SIRT X |

(D) Land held as an Investment would be valued at its realizable value

o o =0 § ot 75 Y & P ST ageHa ged g

Answer Key:(D)

Which Accounting standard dealing with disclosure of Accounting policies

B T A HHS A ib- Nfadl & Ubed J Jeford g2

(A) AS-1
quy-1

(B) AS-2
Juy-2

(C) AS-9
Jud-9

(D) AS-5
quy-5

Answer Key:(A)

Accounting standard are recommended to Central Govt by

g IRBR B AWp- A B 9 gRT RBTRE P St 8 2

(A) ICAI

SIESIEIN

(B) ICWAI
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(C) ICSI

CHERII ]

(D) FICCI
%

Answer Key:(A)

Which Accounting Standard deals with Depreciation Accounting

P T AW AHD g i I Hafdd g2

(A) AS 14
iy 14

(B) AS 16
6 TTY 16

(C) AS 6
dud 6

(D) AS 3
Uy 3

Answer Key:(C)

Which Accounting Standard deals with Revenue Recognition

® 1 T GBI TS IO UgdH 9§ Jefed 32

(A) AS 7
g 7

(B) AS 5
7 eens i

(C) AS 9
g9

(D) AS 13
T 13

Answer Key:(C)
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10

Accounting for Fixed Assets is related to

fAfya afegufml & fo Sgie g g Tafiy g |

(A) AS 7
g 7

(B) AS 14
Uy 14

(C) AS 10
T 10

(D) AS 21
Uy 21

Answer Key:(C)

Which Accounting Standard deals with Foreign Exchange Transactions

P T A A (GG gaT aF-a4 § Jafird g2

(A) AS 11
T 11

(B) AS 12
Uy 12

(C) AS 25
Uy 25

(D) AS 26
Ty R6

Answer Key:(A)

Which Accounting Standard deals with Segment Reporting

&I 9T A A We R T Iefidg g2

(A) AS 11
e 11
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11

12

(B) AS 17
iy 17

(C) AS 16
qud 16

(D) AS 15
qud 15

Answer Key:(B)

Which Accounting Standard deals with Earning per share

&I T AGihT AP Ufd TR HHTS A J&d 8

(A) AS 20
iy 20

(B) AS 21
Uy 21

(C) AS 22
Uy 22

(D) AS 23
Uy 23

Answer Key:(A)

http://223.30.222.69/bsnl2017/testset.php

Which Accounting Standard deals with Accounting for Taxes on Income

® I T AGih - HHS 3T TR B b d@ih- g Jaferd g2

(A) AS 22
Uy 22

(B) AS 21
Uy 21

(C) AS 19
iy 19

(D) AS 18
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qud 138

Answer Key:(A)

Which Accounting Standard deals with Related party transactions

I T AGih- AP Jafdd Uil ad-a o Faferd g2

(A) AS 18
T 18

(B) AS 1
13 Wy |

(C) AS 9
g9

(D) AS 16
dug 16

Answer Key:(A)

Functions of Journal
SRAA BT B

(A) 1. Analytical Function, 2. Recording Function, 3. Historical Function

1. foawunars ot 2. Reifen ard, 3 . ufagiRis &

(B) 1. Writing function, 2. recording function 3. Narration function

14 1. A9 B, 2. Repifen &t 3. gulHreds S

(C) 1. accounting function , 2. Recording function, 3. Historical Function

1. AGiH H 2. Repifen &l 3. ufagie orf

(D) 1. accounting function, 2. decision function, 3. narration function

1. AGie ®1 2. Auifae &1, 3. qui-TES SRt

Answer Key:(A)

Orders of Columns of Journal
15

SR P BIAH! BT by
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(A) 1. Debit amount of Credit amount, 2 Particulars, 3. Voucher number, 4. Ledger Folio 5
Date

1. Xy Sfse a1 opfege 2. faavr 3. aIQwR =T 4. Wi U+ 5. fafY

(B) 1. Particulars, 2. Date 3. Voucher number, 4. Ledger Folio 5 Debit amount or Credit
amount

1. faazor 2. fafY 3. IR =T 4. W11 U 5. A Sfde a1 wige

(C) 1. Date, 2 Details, 3. Voucher number, 4. Ledger Folio 5 Debit amount or Credit amount

1. faf¥y 2. RT3, ISR T=AT 4. JIAT U 5. A e a1 hfge

(D) 1. Date, 2 Particulars, 3. Voucher number, 4. Ledger Folio 5 Debit amount or Credit
amount

1. fafdr 2. faavon 3. 93=R =T 4. WA U 5. A Sfde ar wiege

Answer Key:(D)

Balance of following type of accounts : 1. Capital or owner's equity account, 2. gain accounts
3. loss account, 4. Income account

9 IR & Al &1 90 1.USl 37aT J1ferds el |rdr 2. Y @rdT 3. g1 QT 4. 31
QT

(A) 1. Credit balance, 2. Credit balance, 3 Debit balance, 4. Credit balance

1. higc QY 2. hige AW 3. Sfac AW 4. Hige AW

16 (B) 1.Debit balance, 2. Credit balance, 3. Debit balance, 4. Credit balance

1. Sfdc 2V 2. Hige AV 3. Sfac AV 4. Hfge AW

(C) 1.Debit balance, 2. Credit balance, 3. Debit balance, 4. Debit balance

1. Sfde QY 2. shfge AN 3. Sfoc AW 4. Sfee AW

(D) 1.Debit balance, 2. Credit balance, 3. Credit balance, 4. Credit balance

1. Sfee QY 2. hfge AN 3. hfge WV 4. HiSc AW

Answer Key:(A)

Goods returned from X is entered as

17 X T 91O UTed THH &l gl Db hT TR

(A) Debit X A/c; Credit Purchase Return A/c
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18

19

2fge X 3/pde ; hige R 3bEe Red brae

(B) Debit X A/c; Credit Cash A/c

3fde X 3prde ; Hige I sBEe

(C) Debit Sales Return A/c; Credit X A/c

Sfae I e 3ipTde ; pfge X spde

(D) Debit X A/c; Credit Sales A/c
Sfde X 3@ ; Bige I BEC

Answer Key:(C)

Fixed asset is an asset not held for

fAferg ufteufty a5 dufy & o e & fore StRert 78 @

(A) producing goods
wdlqo dlHI-

(B) producing services

IdTgdh Yand

(C) for sales

[EEIEARLY

(D) for goods and services

A g Harsf & forg

Answer Key:(C)

Which of the following is an example of Capital Expenditure?

9 o & D 91 USht T &1 IS8R0 82

(A) Insurance Premium

ot diferad

(B) Taxes and Legal expenses

X Td DI Y

(C) Discount allowed

ERED

http://223.30.222.69/bsnl2017/testset.php
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20

21

22

(D) Customs duty on Import of Machinery

TR & Smard UR T Yeb

Answer Key:(D)

When a Fixed Asset is obtained as a gift, the account to be credited is

oie fAfd tRTURI SUBR » TU A U gt 8, Al g Wa d S\ amg g

(A) Goodwill A/c

TTefad Wrar

(B) Capital Reserve A/c

goit SRf&d Wt

(C) Donor's A/c

SIFR @l

(D) General Reserve A/c
I 3RI&TT @rat

Answer Key:(B)

What is debt equity Ratio

BUI Bl ITAT R G 2

(A) Debt/Equity
BUT/

(B) EBIT/Avg total Asset

Salemscl offd $a Juf

(C) Net Profit/loss
[ ATH/ BT

(D) Gross Profit/loss

& ATH/ BT

Answer Key:(A)

Working capital turnover ratio is ratio between

http://223.30.222.69/bsnl2017/testset.php
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23

24

®T Uit o foht 3UTd 9 & e 3ruTd &

(A) Sales/Average working capital

faspl/ ST wri=fta golt

(B) Avg. Inventory/Sales

3d AT / faent

(C) Both 1 and 2
192 aHl

(D) Purchases/Average Payables

Y /309d g

Answer Key:(A)

Which of the following is a long term activity ratio

forg & @ v 1 <ief eraf¥y nfafafdr s 82

(A) Fixed Assets turnover ratio

g Ul oo foh! srgura

(B) Total Assets turnover ratio

&d YUl o faeh! 3gUTd

(C) Both 1 and 2

1 g2

(D) None of the above
EEEEEIEE |

Answer Key:(C)

What is Fixed Assets turnover ratio
A3 ufveuf oo fowt srgua w g 2

(A) Sales/Average Fixed Assets

faepl/ g Afauiaufy

(B) Avg. Inventory/Sales

http://223.30.222.69/bsnl2017/testset.php
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25

26

3d AT / foent

(C) Both 1 and 2
192 Ml

(D) Purchases/Average Payables
4 /309d g

Answer Key:(A)

What is Total Assets turnover ratio
od IRTUR o fap! rqud T ®

(A) Sales/Average total assets

fspl/ 3frd o Rt

(B) Avg. Inventory/Sales

3d AT / font

(C) Both 1 and 2

1g2aH

(D) Purchases/Average Payables

4 /309d g

Answer Key:(A)

What is cash ratio

g SUTd T 87

(A) current assets/current liabilities

a1 IR URT / IaH Il

(B) (current assets-inventory)/current liabilities

(I TR AT )/ AT Sadrang

(C) (Cash + marketable securities)/Curr. Lia.

(AHS + TR & Ufdyfan) adamE Soan

(D) None of the above

39 A DI L

http://223.30.222.69/bsnl2017/testset.php
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Answer Key:(C)

which are Return on investment Ratio

g & @ B I 3w SrguTd R ufaey 82

(A) Return on Assets

IR R ATy

(B) Return on Equity

27 it R Ay

(C) Both 1 and 2
192 gHl

(D) None of the above
EEEEEIEE |

Answer Key:(C)

(A) turnover ratio

& faeh! U

(B) long term solvency ratio

28 <t arafd Tiedwdt srqura

(C) short term solvency ratio

3 3fafy Hied T SfgUTd

(D) profitability ratio
THUdl FUld

Answer Key:(D)

Fixed asset ratio is ratio.

2 ffyq ool oMU .. U 2|
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30

31

(A) long term solvency

Jaf srafty Acad

(B) short term solvency

3¢ 3{afe Fled

(C) turnover

& fashl

(D) profitability.
ITHY&dl

Answer Key:(A)

AS 30 deals with

AS 30 forg O Tafid g

(A) Accounting Policy

3fepr3fe urferht

(B) Financial Investment presentation

HISAYd 3Id%He UslcyH

(C) Financial Investment Re-investment Measurement
IS STdCHE R-gIdCHT HoRHC

(D) Financial Investment disclosure
BI-Sd 3TaCHE feTareiioR

Answer Key:(C)

Economic Income is defined as

3ffep 3ma ) uRwTYT (e 8

(A) Change in wealth

Huft # gRad=

(B) Change in income

39 H gRad

(C) Change in profit

http://223.30.222.69/bsnl2017/testset.php
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32

33

http://223.30.222.69/bsnl2017/testset.php

oy H ufkadq

(D) none

PIS Tel

Answer Key:(A)

What are advantages of discounted cash flow Method

feTpTdce Adcl Uare fafd & = Ay &

(A) Considers time value of money

T Bt STAIAT & I R IR

(B) All cash flows are considered

gt Tl UaTe R f99R fhar Srdr g

(C) different projects can be evaluated independently

fafirs afeaieTrell &1 Hedieh Wadaey ¥ fohar ST g

(D) all the above

SWRIGd I

Answer Key:(D)

Sources of fund are
BIRER IRREE K]

(A) Purchase of fixed assets, funds lost through business operations, increase in working
capital, payments of dividend and tax

REgfr™l &1 %Ha , TTUR TEa & SR F H g1, Hraehd Yol J 3, R
3R ATYT &1 YT

(B) Repayment of long term loans, Purchase of fixed assets, increase in working capital, sale
of fixed assets

Srafaty BuT o1 gaidr, FAfa aReukml &1 %, i gt # gia Aid oReufkmal
CARCEA|

(C) issue of share capital, funds from business operations, decrease in working capital,
decrease in assets

TR YoT & SIRT AT, HTAR Tara- 4 i, erf=ia don o S, afiafat & wHt
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(D) Non trading income, decrease in working capital, issue of share capital, purchase of fixed
assets

R TR SR Yol § HHY, VIR Goil B TR -1, Aidd uikeukd! &1 5a

Answer Key:(C)

Three categories of cash flow are

b YaTe 1 ot Aforl 4 §

(A) Cash flow from (a) operating activities, (b) investing activities, (c¢) financing activities

el Ud1g (T) UeiTe Wﬁrﬁfﬁm@)ﬁamﬂi?ﬁfﬂm(@)ﬁ?ﬂﬁw%%@m

(B) Cash flow from (a) operating activities, (b) investing activities, (¢) non-financing activities

34 Ahdl JdTg (T) ummﬂ%ﬁfﬁﬂ‘f@f@)ﬁéﬂﬂ%ﬁfﬂm@ﬁ?ﬁ?ﬂﬁwﬁﬁm

(C) Cash flow from (a) non-business activities (b) investing activities, (c¢) financing activities

e UaTe () TR- YR 71 Sfafafera & Mo wfafafiat @) facita mfafafai

(D) Cash flow from (a) operating activities, (b) investing activities, (¢) donations

4] dTg (T) YaTad Tiafafedr ¥ (@) Moz afafafert @& g

Answer Key:(A)

Addition of non-cash expenses and Deletion of non-cash Incomes are adjusted to Net Profit
figure in order to know

79 & T & fore IR e} ol & oS SR IR Adhat 31 & fAdus & g a1 Hidw el
H gHrRNfSd fopar Siar g |

(A) Cash Flow from Operating Activities

T fAfafa ¥ 9ed! uarg

35 (B) Cash Flow from Financing Activities

foxita mafafafeay @ 7t uatg

(C) Cash Flow from Investing Activities

o=y afafaferat @ 9ol varg

(D) All of the above
g gt

Answer Key:(A)
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36

37

38

Cash flow due to purchase of inventories, fixed assets, investments, etc.. causes

Ao, A ufufy e sanfe & @'l & HRUIAdHe) uaT ¥ 9 39U gl g |

(A) Cash Flow from Operating Activities

UTaH TAfafed ¥ Aadl udig

(B) Cash Flow from Financing Activities

foxita afafafeay @ Fwel uag

(C) Cash Flow from Investing Activities

o= afafaferat @ 9edl varg

(D) All of the above

T Tt

Answer Key:(C)

(A) cash concept of funds
fAfer Bt T Hebeum

(B) working capital concept

SN Yol b

(C) long term funds

3 srafy fAfYr

(D) fixed assets concept of funds

fferan ot Rfyd ufEuf deveo

Answer Key:(B)

In a broader sense, fund means financial resources in the form of

faga =u ¥ Al &1 o 3 Fm & =0 & faciia damem|

(A) 1. men, 2. materials, 3.Money, 4. Machinery

1. A9 2. AT, 3. U1 4. A=Y

http://223.30.222.69/bsnl2017/testset.php
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(B) 1. men, 2. materials, 3. Cash, 4. Machinery

1. O 2. 914, 3. Abal 4. AR

(C) 1. men, 2. power, 3.Money, 4. Machinery
1. A9 2.91aR, 3. U 4. A=Y

(D) 1. men, 2. light, 3.Money, 4. Machinery
1. A 2. 3¢, 3. U1 4. A=A

Answer Key:(A)

Fund flow statement provides a summary of management decisions on
activities of the firm and policy

ﬁﬁugmﬁawwﬁwﬁﬁfﬁlﬂaﬁ? ...... Hifd R yseq & fAofal &1 aRiw yem
GEGIR]

(A) operational, investment
T, o

39 (B) financing, operational

ERICRCEIGINIEEED

(C) financing, investment

EEIRARER

(D) business, investment
AR, Fa=1

Answer Key:(C)

Fund flow statement reveals the financial soundness of the business to the

<) yaTe fdaRu iy 1 SR @t g ot quiar®

(A) 1. Stakeholders, 2. Banks, 3. Proprietor

1. 3RIYRP 2. deb,3. TTHT
40

(B) 1. Debtors, 2. Banks, 3. Financial institutions

1. SER, 2. 9 3. fa<iig =g

(C) 1. Creditors, 2. Debtors, 3. Financial Institutions
1. THGR 2. ¢FER, 3. faxiia dwimg
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41

42

43
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(D) 1. Creditors, 2. Banks, 3. financial institutions

|. AeR 2. §& 3. foxita gwimg

Answer Key:(D)

WIP stands for

wip &1 31f §

(A) Work in progress
A R

(B) Word in process

qeg Ufchar A

(C) Work in pipeline

Eap] pipeline A

(D) None

P el

Answer Key:(A)

What refers to making entries of all business transactions into the Journal/Subsidiary Book

Tt IR -39 1 UfafY SR W™ e H gol = oI o1 Bl Sl 82

(A) Recording
(B) Classifying
(C) Summarizing

(D) Reporting

Answer Key:(A)

The main object of Book Keeping is

07-03-2017 15:14
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44

45

eIl foran &1 0 3539 §

(A) To know gain/loss

AH / BT & IR A ST

(B) To value assets and liabilities

OREafy 3R Sl &1 Jedia

(C) For comparison to similar business
T UHR o AT J T

(D) All of the above

T Tt

Answer Key:(D)

Which of the following is not a basic accounting record

e & @ 3 1 ga aRaie RepTe =181 82

(A) Purchase Register

&Y IR

(B) Salary payable Register
Ja YITaT oTeR

(C) Bills payable Register
foret YT IR

(D) Family Particulars of employee

HHIRY & URaR HT faazur

Answer Key:(D)

What is being represented by the Balance Sheet
I T ST B I fhae! quifar g2

(A) Financial status

faitg Rufd

(B) Performance status

http://223.30.222.69/bsnl2017/testset.php

07-03-2017 15:14



BSNL Questions http://223.30.222.69/bsnl2017/testset.php

e Rufa

(C) Profitability
YU adl

(D) None of the above
EEEEEIEE |

Answer Key:(A)

Which is not BSNL Asset

79 7 ¥ o & dfivguaua uiEufy T8t 82

(A) Land

G

(B) Building
46 Ha+

(C) Cables
B

(D) Rocket

RETS

Answer Key:(D)

Which of the following is a current Asset
e o 9 o O ada ufkufi 82

(A) Prepaid expenses
fiie =g

47 (B) Salaries payable
YA TG da-

(C) Administrative Expenses

RS g

(D) All of the above

T Tt
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48

49

50

Answer Key:(A)

Accounting standards brings about

Aaih AT O facig Raifén # 3T 8

(A) variation

IRERI

(B) similarity
JHTAT

(C) diversity
fafaerar

(D) Uniformity
Uh=Udl

Answer Key:(D)

http://223.30.222.69/bsnl2017/testset.php

in financial reporting

The Accounting Standard that deals with Disclosure of Accounting Policies is

MBI LSS o SBT3 Ulferft UehIh 0l T S HAT 2 -

(A) AS - 1
AS-1

(B) AS -2
AS-2

(C) AS -9
AS-9

(D) AS - 5
AS-5

Answer Key:(A)

What refers to preparation of Trial Balance out of all the ledger accounts

Tt SEtaETar el ¥ TId 9O dOR $HRA B FT HET ST g 2
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51

52

(A) Recording
(B) Classifying
(C) Summarizing
gargur

(D) Reporting

Answer Key:(C)

http://223.30.222.69/bsnl2017/testset.php

Which among the following is a chief organ of a Company Management

g o 1 1 HU s BT I 3T 82

(A) The shareholders
SRYRD

(B) The Board of Directors

feere Husd

(C) The Chief Executive
qeq

(D) All of the above

SWRiad g4t

Answer Key:(D)

Which of the following can affect existence of a Company

9 & QS I 91d Hut B ASe T B YT HRedl 82

(A) Death of a member
e B g

(B) Insolvency of a member

o &1 fearferara-

(C) lunacy of a member

07-03-2017 15:14
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53

54

Ha¥ dI Y[Tely-

(D) Winding up

Answer Key:(D)

In which form of the business the ownership is not different from management

IR & by ey # Wit vy T fire T8t 82

(A) Sole Proprietary business
U AR AP

(B) Partnership business
AMUR

(C) Both 1 and 2
192 gHl

(D) Neither 1 nor 2

192 W PIs 81

Answer Key:(C)

What are the minimum number of Board meetings in a year

Iy H ford-t gAaH as dod SRATSd & St 82

(A) 4 times
IR dR

(B) 3 times
3dR

(C) 6 times
6 dIR

(D) 8 times
8 d}

Answer Key:(A)

http://223.30.222.69/bsnl2017/testset.php
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All general meetings other than Statutory and AGM is called as

Tifafdres 3R Toiud & 3rarar g i Sop) ol I8 W HeTod g

(A) Extraordinary General Meeting (EGM)
SIHTYRUT YTHTY

(B) General Meeting
55 HTHY

(C) Members Meeting
o 96h

(D) Important Meeting

Answer Key:(A)

As prescribed in Sec 210 of the companies Act 1956 at every AGM the Board of Directors of
the company shall lay the

ST AT 1956 B URT 210 F STIR YIS TollTH TR S & s & o Y
U D |

(A) Profit & Loss a/c

AT 3R g1 @

56 (B) Balance sheet
da1 U

(C) Both 1 and 2
192 aHl

(D) None of the above

3T A BIS el

Answer Key:(C)

Transport allowance in r/o physically challenged persons is exempted from IT upto

57 WRIRG U Y 3 Aekidl & AU ....... TRaET Hel TR 3R 9 ge U &

(A) Rs.800
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58

59

800 ¥UU

(B) Rs.1600
1600 ¥UY

(C) Rs.1000
1000 3YU

(D) None

PIS 6l

Answer Key:(B)

TDS returns are filed

Sy fed wed Bt o @

(A) Monthly
AR

(B) Once in two months

&I g H T IR

(C) Quarterly

fammet

(D) Half Yearly
3

Answer Key:(C)

What is payables turnover ratio
UUEd THSAIR XM RT3

(A) Sales/Average Receivables

I / Ta¥el Rdiagayg

(B) Avg. Inventory/Sales

TavSl $=deRt / ged

(C) Both 1 and 2

3l 1 3R 2
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60

61

(D) Purchases/Average Payables
RAY / TaS! Udeiy

Answer Key:(D)

In the case of self occupied house property, maximum Interest on borrowed capital for IT

purpose can be taken as

http://223.30.222.69/bsnl2017/testset.php

T4 P [ YURI IR IYR ¢ 718 Yoit & HTAHaH 1ol & ST o & forg g fera

IR i

(A) Rs.30,000
30,000 ¥UY

(B) Rs 2.0 lakhs
2.0 A »Uqg

(C) Rs.1.25 lakhs
1.25 < »4u

(D) Without limit

IS AT Tl

Answer Key:(B)

Fixed Medical allowance is taxable to the extent of

fAfaa ffedr v i TR e R aa g2

(A) in excess of Rs.10,000
10,000 ¥UT T 3{feH

(B) in excess of Rs.15,000
15,000 ¥UT ¥ 3{fde

(O) to the full extent

CRIEIGED

(D) None

PIS el

Answer Key:(B)
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62

63

64

Interest free loan or loan at concessional rates of interest is a perquisite where interest

indicates

TS IR FH 0T 3yar R} a3 W sl uRafsy g forad saret cxifar g

(A) SBI lending rate

T3S FUR &R

(B) SBI Savings rate

T3S §9d a3

(C) RBI fixed deposit rate

O PCIRIERICIRESE

(D) RBI savings rate

SREISATS Fod &R

Answer Key:(A)

The monetary limit for registration for Service Tax by the service Provider is

TaT USTdT §RT aT B P T Uelipur ot 3nffes dwi g

(A) Rs 9 Lakh
9 g »Uq

(B) Rs 6 Lakhs
6 A9 ¥Uu

(C) Rs 7 Lakhs
ANIECRIY

(D) Rs 10 lakhs
10 <Ild »Uuy

Answer Key:(A)

Service Tax returns are filed

a1 R R D) Bred fovar wrar g

(A) Monthly

http://223.30.222.69/bsnl2017/testset.php
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(B) Once in two months

3 ATeTH U& aR

(C) Quarterly

fommet

(D) Half Yearly
3H

Answer Key:(D)

The impact of cenvat credit on capital goods partly used for taxable services and exempted
services is

FR Arg Farsil o forg Goiivd A1at o SifRies ST IR 3R Fe T Jarsf IR Ide
EgRTaC Rt CAT TR

(A) Cenvat credit is not available
Jde wiee Juas T8l §

65 (B) Cenvat credit is available
Ide Hige Iuas 3

(C) 50% credit can be availed
50% ohiac 1 ATY IS oI Al §

(D) None

DTS 6l

Answer Key:(B)

Cenvat credit for capital goods can be availed in the first year to the extent of

Ugd Iy H YSiTd HTd TR Yde ohse &1 arH Y TR de Iomal oI Il §

(A) full
66 gt

(B) 20%

(C) Not exceeding 50%
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67

68

50% & 3P gl

(D) None

PIS Tel

Answer Key:(C)

The person who makes the proposal is

o fed Uaed ST 8

(A) promisor

UroR

(B) promisee

(C) proposer

(D) none of the above
EEEREIEE |

Answer Key:(A)

An agreement is enforceable by law is called

fafd gRT Tem THENAT ... HEAT 3|

(A) proposal
UXdid

(B) promise
drgal

(C) contract

Gfdar

(D) void contract

3y faar

Answer Key:(C)
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69

70

71

http://223.30.222.69/bsnl2017/testset.php

Reciprocal promises are to be performed in the order as fixed in the

............... H FAfYd %8 & 3UR 81 URWRS ariel o1 fAwreH foear ST Al

(A) agreement

(B) promise
drgal

(C) contract

fdar

(D) none of the above
EEEEEIEE |

Answer Key:(C)

The reasonable compensation should not be exceeding stipulated in the contract

(A) damages

(B) penalty
&S

(C) return

ot

(D) costs
oINTd

Answer Key:(B)

Damages means for the loss caused to the injured party

&fd o1 i g ara Ui B gu g F g ...

(A) equal to compensation
ECICEICC RN
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(B) equal to costs
ARTd &b SRIER

(C) Equal to damages

&fd & IR

(D) monetary compensation

3 Haraet

Answer Key:(D)

TDS returns are filed

TDS e oe Bgd fhar Sars

(A) Monthly

HIRYD

(B) Once in two months

72 S HAE H U dR

(C) Quarterly

(D) Half Yearly

BRI

Answer Key:(C)

When amount is stated differently in a negotiable instrument in words and figures, it is
and in such a case, amount stated in will prevail

e WepTe forad & TR Wea 3R el § e gL TSR, A TG ..o 2R
L IE= IS = A H gxiig A faemm <t

(A) accommodation bill, figures
73 3MaY o4, 3idhs

(B) false bill, words
o fod, Trea

(C) ambiguous instrument, words

ity IUHIT, Yeg,
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74

75

http://223.30.222.69/bsnl2017/testset.php

(D) fictitious bill, words

o1 fod, Tsg

Answer Key:(C)

If the request for information is received by PIO and APIO, the reply is to be given within

days & days respectively of receipt

gfe drengant 3R Thianan & TaqT & oy 3rRIY I BT 8, dl STHT IR I &

AT ... foT ok ... TG & ofiaR fean s =nfeuy

(A) 45,50

(B) 30,35

(C) 25,30

(D) 35,30

Answer Key:(B)

Under RTI Act fine up to Rs 25000 can be imposed due to

RTI U&E & 3faid % & HRUT 25000 F. T &1 SHIT AT o Ghdl 6 |

(A) illegitimate refusal to accept the application, malafide denial,

3{Tde WHR HRA F TAd el F HAT BT, HICYU! ailoh o SRITHR0T

(B) knowingly providing false information, destruction of information,
STAGHEHR TTAd STHBRI &A1 ¢l , SAFBR] B A8 HIAT

(C) both A & B

T 3R &t gAY

(D) None of them

PIS Tel

Answer Key:(C)
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Right of information under RTI Act means
IREVTE HAgH & Siarid o &1 HfIGRY &1 31 §

(A) Inspection of work, documents, records
i\ o A= of
H BT e, gxaray, NGBS

(B) taking notes/extracts, certified copies of documents or records

fewquft/ IR o1, RepTEd & axeirasii o1 gearid ufe

76
(C) taking certified samples of materials, information in diskettes/floppies/tapes/ video
cassettes
AT o JHIOIT 9 o1, fete /aaird, euy fafedl e d SHeRI o
(D) all of above
Tt
Answer Key:(D)
EPF Act provides following three types of benefits
SUUw ffTH g fF UBR & oY UeH #dr g
(A) 1. Contributory Provident Fund, 2. compensatory allowance, 3. Insurance cover to the
members
1. yfasg [T &1 3ivram, 2. UfdRe Y 3. Ta'l BT §idT BT
(B) 1. Contributory Provident Fund, 2. Pensioner benefits to the employees/family members,
3. travelling expenses
- 1. Hfasa fAfY &1 3f=IeH 2. HHaIRY / UNaR & TSl &1 U &1 a1H 3. I Y
(C) 1. Contributory Provident Fund, 2. Pensioner benefits to the employees/family members,
3. Insurance cover to the members
1. Hioss i &7 3i=1e 2. HHAR! / IR & TG] &I U &I ATH 3. TGl BT S T
DAl
(D) 1. Salary, 2. Pensioner benefits to the employees/family members, 3. Insurance cover to
the members
1. 3aF, 2. HHARY URIR & &l &l U BT ATH 3. TSI BT STHT HIAT
Answer Key:(C)
78 Basic wages for the purpose of Employees' Deposit linked Insurance Scheme excludes
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HHIRI & FEUTRTe fofTe ST Ao & fow 7a 9+ & Ay wfifed 78 8

(A) Basic wages, Dearness allowance, retaining allowances

(B) Cash value of any food concession, CCA, OTA, Bonus

foreit @ Ramad 1 e 7w, Wi, Sid, g

(C) Cash value of any food concession, HRA, OTA, Bonus

forit ey Ramad 1 e e, TIIRT, AT, S99

(D) Cash value of any food concession, HRA,Medical allowance, Bonus

for it @re RAId 1 Aehe Hed, TISHRT, i v, 99

Answer Key:(C)

Employers contribution under the EPF Act is or as the case may be

U fITE & iarfd e & SR Adiedr SieM ........... YT ....... ]

(A) 5%, 10%

(B) 10%, 15%
79

(C) 10%, 12%
(D) 12%, 15%

Answer Key:(C)

ELDI stands for

ELDI %1 Hddd &

80 (A) Excise linked Deposit Industry

(B) Employee Linked Deposit Insurance
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81

82

(C) Education linked demand information

TR foids feris SwiaRH

(D) Employee linked donor industry
T fofae SR §8¥¢]

Answer Key:(B)

Which is the top most organ of a Company

HUH BT gdid 3T B 122

(A) Directors

BERIED

(B) Board of Directors

feere Husd

(C) Share holders
R YRS

(D) None of these
EEEREIEE |

Answer Key:(B)

Which among the following is not a feature of Government Company

g 7 § P O BRI U Bt IR 8 82

(A) Registered Company

IRES B

(B) Govt. share is more than 51%

51% T 3T WBHR! FTGRT

(C) Auditor is appointed by the Central Govt.

H-a1d WBR gRT 3Hifeex Mgad HA1

(D) Members should not be more than 100

100 ¥ 3% To&g 781 g1 AT
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Answer Key:(D)

Under which Section the Balance Sheet and Profit & Loss a/c shall comply with Accounting
Standards

DI 4RI fTd ga U SR AT 3R g1 JIaT a1 JTHeh! o1 UTe- Bl 8

(A) Sec.209
TG 209

%3 (B) Sec.211
T 211

(C) Sec.218
T 218

(D) Sec.222

TG 222

Answer Key:(B)

What are the sub heads under Income head

$IHH 2 & Jdiid I g AR

(A) Income from Services

gfaag 9§ s H

(B) Other Income
84 HY gAhH

(C) Both 1 and 2

3l 1 3R 2

(D) I only

$ad 1

Answer Key:(C)

If Deductee fails to furnish PAN to the Deductor TDS will be at

85 g deductee, Feldidmdl B U (PAN) UId B | %A X8dl 8, dl Seidy (9 g
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(A) 25%
(B) 30%
(C) 20%
(D) 33.99%

Answer Key:(C)

Medical reimbursement with vouchers is taxable to the extent of

IR Afed fafde ufagfd ford S a6 &R 9 g2

(A) in excess of Rs.10,001
10,001 ¥UT T 3HfeH

(B) in excess of Rs.15,000
86 15,000 ¥UT ¥ 318

(C) to the full extent

CRIEIGED

(D) in excess of Rs.10,000
10,000 ¥UT ¥ 3Hfdeh

Answer Key:(B)

Salaried employees who exempted from producing receipt when the HRA is

Ife THRT Y § A IaHint eial &) e Tqd B § ge U 2|

(A) Rs.3000
3000 ¥UT

(B) up to Rs.3000

87
3000 ¥UU doh

(C) up to 3500
3500 ¥UU do»

(D) None

PIS Tel
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Answer Key:(B)

The monitory limit for payment of Service Tax by the Service Provider is

T TETdT RT a1 R & YT o fog e g

(A) Rs.9 Lakhs
9 dig >4y

(B) Rs.8 Lakhs
88 8 dd »4u

(C) Rs.7 Lakhs
NI Y

(D) Rs.10 Lakhs
INANIECRIIY

Answer Key:(D)

Service Tax is imposed under this

a1 HR 9 & 3icia arg fear I g

(A) Service Tax 1994
a1 B 1994

(B) Finance Act 1994
89 fot sifafad 1994

(C) Separate Ordinance
TYh AT

(D) None

PIS T6l

Answer Key:(B)

Service Tax Returns are submitted in this form

N Jarax e o T B § TRgd Par ST §
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(A)ST 1

(B) ST 2

(C) ST 3

(D) ST 5

Answer Key:(C)

is a seal used by a Company, as a substitute for signature

.................. g I HUI GRT BIAT&R & Tdoil b U & SIAHTA 5T SITdT §

(A) Marker

HIH

(B) Ink pen

91 L3 RVE

(C) Common seal

EIEERI|

(D) Rubber stamp
I&R B HIGR

Answer Key:(C)

How many Annual General Meeting will be conducted in a year

Iy ¥ ford aifer e S AT Pt el 82

(A)4
92
(B)3

©)2

39 of 43 07-03-2017 15:14



BSNL Questions http://223.30.222.69/bsnl2017/testset.php

(D)1

Answer Key:(D)

Who are theoretically called as the owners of the company

O\

Agifae T Q S HU- P Hlfeid padld a2

(A) Equity Shareholders
Sfepcl YRS

(B) Preference Shareholders

93 HTTAY IYYRD

(C) Debenture holders

fSdTR RSP

(D) All of the above
g gt

Answer Key:(A)

According to the TRAI recommendations how many segments are there in the BSNL

FIRUSTE RGN & AR SLHELd H fhd TS &2

(A) Two

(B) Three

94 iG]

(C) Four
IR

(D) No segmentation
PIs ©S T

Answer Key:(A)

95 The Company being a legal entity, it can sue and be sued in its
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HUHT BT BT KT B & HRUI I8 GHGH] B Tahell § AR .......... R goHedT foar
ST 9l §

(A) Own name

g &t A

(B) Employee name
C o
HHAR] I AT

(C) CMD name

HeHSt & T4

(D) Secretary name

gad & A

Answer Key:(A)

A Government Company is a company in which not less than 51% of the share capital is held
by

IRBRI HUAT I8 B gl & ForaH 51% VAR Golt 99 & U g1 a1y

(A) The Central Govt.

HGIT IWBR

(B) The State Govt.
Y XD R

96

(C) Partly bd Central Govt. & partly by State Govt.
3TRIP Hg WBR 3R 3P T TRBR b gRI

(D) All of the above
g gt

Answer Key:(D)

The directors of a Public Itd. Company is elected by

o Ufiep feiffics Uit & el &l ........ FINECISIRIE

(A) Shareholders
YRS
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(B) Creditors

daR

(C) Banks

d%

(D) Both 2 and 3

2 3R 3 S

Answer Key:(A)

Applicability of Income Tax on professional upgradation allowance is to the extent of

IS AT T TR 31 B B IUGadT [y HIHT dh ©
(A) 0.5

(B) Full

98 o

(C) in excess of Rs.800
800 TUT Y 3fdh

(D) None

DTS 6l

Answer Key:(B)

Service Tax on GTA service has to be paid by

GTA Ifdg R Ifdg &= GRT 3T A1 USdl @

(A) e-payment only
Had 3-HITaH

99
(B) cash only

Had ddhq

(C) any means

fedt W usR I
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(D) None

P el

Answer Key:(B)

The impact of cenvat credit on input or Input services used for exempted services

Ide hise o1 Ufdhd 39YC a1 37Y¢ IUFIfTd Uaores Afidad TR

(A) Cenvat credit is not available
Idc hiSC Uy Aol 3

(B) Cenvat credit is available
100 Yde Hfge A 7

(C) Cenvat credit available at 20%

J99e PHfec W 20% IUAH §

(D) None

DI el

Answer Key:(A)
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